
KSH1000     REV#  2
01/2021KSH1000/1002 SHELTER

INSTRUCTIONS



F

8
3/8" Flat Washer

G

4
3/8" x 3" Button Head Cap Screws

E

6
Truss Lag Screw

H

4
#10 x 2.5 Flat Head Screw

I

1
Roof Assembly

A
B

4
22" Angle Gusset

D

4
25" Angle Gusset

C

NOTE: IT IS IMPORTANT TO KEEP ALL 
SCREWS LOOSE DURING ASSEMBLY 
UNTIL ENTIRE BENCH IS ASSEMBLED  

REQUIRED TOOLS
(NOT INCLUDED)
- POWER DRILL
- 7/32 ALLEN WRENCH
- 9/16 WRENCH

4
3/8" Hex Nuts

4
Posts

KSH1000/1002 SHELTER
INSTRUCTIONS

2/7HARDWARE &
TOOLS REQUIRED 
FOR ASSEMBLY



I

48
3/8" Flat Washer

H

4
3/8" x 3" Button Head Cap Screws

E

6
Truss Lag Screw

H

4
#10 x 2.5 Flat Head Screw

I

8
.375" x 4.5" Hex Bolt

E

8
.375" x 4" Hex Bolt

F

8
.375" x 3" Hex Bolt

G

8
.25" x 2.5" Lag Screws

J

8
.25" x 4.5" Lag Screws

K

L

NOTE: IT IS IMPORTANT TO KEEP ALL 
SCREWS LOOSE DURING ASSEMBLY 
UNTIL ENTIRE BENCH IS ASSEMBLED  

REQUIRED TOOLS
(NOT INCLUDED)
- POWER DRILL
- 7/32 ALLEN WRENCH
- 9/16 WRENCH

24
3/8" Hex Nuts

16
.25" Flat Washer

3/7HARDWARE &
TOOLS REQUIRED 
FOR ASSEMBLY

KSH1000/1002 SHELTER
INSTRUCTIONS



DDDD

CC

CC

1

1

2

2

Posts labeled 1 above will be assembled the same•
Posts labeled 2 above will be assembled the same•

KSH1000/1002 SHELTER
INSTRUCTIONS

4/7ASSEMBLY



AA

D

C

X

DETAIL X
SCALE 1 : 10 CD

JJ

K

K

LLLL

1

DETAIL AA
SCALE 1 : 10

C D

2

Note: Do NOT attach boards C or D where there are no pilot holes. Follow the pilot holes

KSH1000/1002 SHELTER
INSTRUCTIONS

5/8ASSEMBLY



Safely lift roof assembly to attach legs1.

KSH1000/1002 SHELTER
INSTRUCTIONS

6/7ASSEMBLY



DETAIL Z
SCALE 1 : 10

GG

FF

EE

II

HH

Attach post to roof assembly, do not fully tighten1.
Attach gussets, do not fully tighten2.
Once all posts and gussets are attached, fully 3.
 tighten all bolts

For inground posts: follow local guidelines 
on depth and use sakrete

KSH1000/1002 SHELTER
INSTRUCTIONS

7/7ASSEMBLY


	PAGE 1
	Drawing View118

	PAGE 2
	Drawing View108
	Drawing View109
	Drawing View110
	Drawing View112
	Drawing View117
	Drawing View130
	Drawing View131
	Drawing View132
	Drawing View133

	PAGE 3
	Drawing View119
	Drawing View120
	Drawing View121
	Drawing View122
	Drawing View123
	Drawing View124
	Drawing View125
	Drawing View126
	Drawing View127
	Drawing View128
	Drawing View129

	PAGE 4
	Drawing View135

	PAGE 5
	Drawing View147
	Drawing View148
	Detail View X (1 : 10)
	Detail View AA (1 : 10)

	PAGE 6
	PAGE 7
	Drawing View141
	Detail View Z (1 : 10)


